Coloca en torre y calcula.

OPERACIONES SEMANALES

Semana del __ al __ de abril

LUNES

MARTES

MIERCOLES

JUEVES

VIERNES

74.580 + 1.968 + 36 =

52.149 + 69 + 254 =

3.548 +449 + 7.821 =

74.580 52.149 3.548
+ 1.968 + 69 + 449
36 254 7.821
76.584 52.472 11.818
9.051 - 3.662 = 7.501 - 3.669 = 47.215-19.847 =
_ 9.051 7501 47.215
3.662 3.669 - 19.847
5.389 3.832 27.368
2.056 x 4 = 903 x 63 = 145 x 82 =
. 2.05531 . 903 15
__63 82
8.224 + 2199 , 290
_22° 1160
56.889 11.890

81x100=28.100

70x700= 49.000

30x900=27.000
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